RDMOTO CZECH REPUBLIC
info@rdmoto.cz
www.rdmoto.cz

Y10

Yamaha FZS1000 Fazer 2001-2005

Kit for the left side Kit for the right side

No. | Description Cat.no Pcs No. | Description Cat.no Pcs
1 Steel box M12 X2 1 1 Steel box M12 X2 1
2 Bolt M12x40mm 857 1 2 Bolt M12x40mm 857 1
3 Bolt M10x130mm 883 1 3 Bolt M10x130mm 883 1
4 Bolt M8x130mm 884 1 4 Bolt M8x130mm 884 1
5 Pad M10 (plane) 804 1 5 Pad M10 (plane) 804 1
6 Nut M10 (safety) 810 1 6 Nut M10 (safety) 810 1
7 Pad M8 (plane) 802 1 7 Pad M8 (plane) 802 1
8 Nut M8 (safety) 809 1 8 Nut M8 (safety) 809 1
9 Duralumin adapter 586 1 9 Duralumin adapter 586 1

Installation — the left side:

1. remove the original bolt M10 and M8, which are on frame before the engine

2. installation of adapter on motorcycle is not difficult. At first give the bolt (No. 3) with
pad (No. 5) and bolts (No. 4) whit pad (No. 7) in adapter.

3. give adapter on motorcycle and use nuts (No. 6) and (No. 8) for tightening on

reverse side.

put steel box (No. 1) together with bolt (No. 2) in protector

all this set mount to thread on adapter

vk

Warning - we recommend to use safety glue on threads of all bolts (moderate
strong - blue colour).




RDMOTO CZECH REPUBLIC
info@rdmoto.cz
www.rdmoto.cz

Installation — the right side:

1. remove the original bolt M10 and M8, which are on frame before the engine

2. installation of adapter on motorcycle is not difficult. At first give the bolt (No. 3) with
pad (No. 5) and bolts (No. 4) whit pad (No. 7) in adapter.

3. give adapter on motorcycle and use nuts (No. 6) and (No. 8) for tightening on
reverse side.

4. put steel box (No. 1) together with bolt (No. 2) in protector

5. all this set mount to thread on adapter

Warning - we recommend to use safety glue on threads of all bolts (moderate
strong - blue colour).




